== A
N & 0l & AF & E A A
20218 & =0l &k L B3I A A
AN ISR 0
dM: Az sAE
el JIg=zs8NE (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jl e K&t 17,443,387 19,455,477 22,012,090
= 2,600,000
< 5,789,200
X 500,000
s 8,554,187
tMASEXA 2,348,400 2,648,400 A.300,000
< 1,284,200
[ia 1,064,200
Jg=s8X& 2,348,400 2,648,400 A300,000
= 1,284,200
s 1,064,200
SMIUFLENS 0INBENA 2,068,400 2,568,400 A 500,000
= 1,284,200
[ia 784,200
307 21201 A 2,068,400 2,568,400 A 500,000
< 1,284,200
s 784,200
08 OIXtE2H = 2,068,400 2,568,400 A500,000
OZAJIHELEN3 ONBEHRNE(EE=ER)
2,068,400,000& 2,068,400
< 1,284,200
= 784,200
() s=HaALIL2 43 80,000 80,000 0
306 23 80,000 80,000 0
01 &3 80,000 80,000 0
OMEEel S=2HIaALMa &3
80,000,000& 80,000
SAIYEETUz 02BN 200,000 0 200,000
307 glz2+ol & 200,000 0 200,000
08 OIXtEHE 3 200,000 0 200,000
OS82 ZAIILLEN3 0IXNEA XA (SH
=) 200,000, 000& 200,000
ngsd 2 224 =X 34,000 32,000 2,000
DEWH 2 22X =X 34,000 32,000 2,000
= ALSHEH S AFXT & 34,000 32,000 2,000
201 Let249] 2,000 2,000 0
01 At 22l 2,000 2,000 0
O Atater AL 2 & T 100,000& * 2074 2,000
307 glz2tol & 32,000 30,000 2,000
04 DI2FHALALSE E X 32,000 30,000 2,000
O22 X2 & @A 2,000,000& 2,000
Ok Alste MEltsl(S845F=XY)
12,000, 000& 12,000
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2A: IS XA D
M DEEx Y 22X =X
o9 DSHY Y 22X =X (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os4dz JIgH A s0tsSUH3
18,000,000& 18,000
NS AR= 529,250 582,000 N52,750
PAResEaPS AL 529,250 582,000 A52,750
JgXEgRF=A 14,120 17,200 A 3,080
201 LEt2 Y| 3,700 3,900 A 200
01 AR 22| I 3,700 3,900 A 200
OJIGXNIANM 2822 M 1,000,000& 1,000
OR2JI1L (M) B2, 2PALTH &=
100,000& * 10JH 1,000
Ogora, 23l S H+gt
1,000,000 * 80% 800
ORUEAINY A=W MA  300,000& * 3 900
202 04| 6,720 9,600 N 2,880
01 2LHOHI 6,720 9,600 N 2,880
OJIgXN3 LR=A bl 9,600,000& * 70% 6,720
203 g R =&H| 2,000 2,000 0
03 AIHF=X SR =AH| 2,000 2,000 0
OJIgX&d g5 =&Y 2,000,000& 2,000
303 A2 1,700 1,700 0
01 ZAZ 1,700 1,700 0
OFAIIGHE 20 =AM Al& 1,700
-X 2= 500,000& * 12 A 500
-2 = 300,000 » 282 A 600
& A 200,000& * 32 A 600
Jlgelol & A K& 11,000 11,000 0
201 Bt H | 1,000 1,000 0
01 At 22l Yl 1,000 1,000 0
O=J|gel E=aI 100,000& * 10JH 1,000
307 212t01 & 10,000 10,000 0
04 QIZISHALAIE B2 X 10,000 10,000 0
OJlgolo & sA}L 10,000,000& 10,000
S0 23 XA 504,130 553,800 N49,670
307 QI2t0| ™ 17,000 47,000 A 30,000
02 DI2HEMAIEE X 17,000 47,000 A 30,000
Oos4d=2 dM(() =& 17,000,000& 17,000
308 AXISHXSO0IH 487,130 506,800 A 19,670
11 SISO USHE AR E A 487,130 506,800 AN 19,670
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AN ISR 0
Mo QAMARE
@ JIEHEEXNE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANEZH ESXNJ(ESHIALMA)
241,620,000 241,620
OXJIHE ANESE +5 NIAMNY(BRHE
&3l) 120,510,000& 120,510
OS2I +E28E NA(HIRLYEEI A
25,000,000& 25,000
OsAJY dz2s XA (S=HIALLA)
100,000, 000& 100,000
I EX & 3,239,114 1,452,720 1,786,394
= 2,100,000
< 310,000
[ia 829,114
Sz 3,239,114 1,452,720 1,786,394
= 2,100,000
< 310,000
s 829,114
DA R S ONDAL-:! 27,864 52,720 A 24,856
201 2Bt | 15, 160 34,000 18,840
01 At 22l 15,160 14,000 1,160
OFXsX 222 M&E S
5,000& = 1,00000 = 80% 4,000
O33J1& |1 222 M
5,000,000& = 80% 4,000
O3dlg F2X3 MHIA AHEZ 3,960,000 3,960
O e8| 3,200
-“EARX0Y 29 =9 MEH
300,000& = 104! = 80% 2,400
-EXARI M = MARE EEH
1,000,000 * 80% 800
202 044l 4,704 6,720 22,016
01 SLHOIYI 4,704 6,720 22,016
OFXNRX J2F=& 0dl  6,720,000& = 70% 4,704
203 YR =&l 8,000 12,000 A 4,000
03 AIHF=XH R =AH| 8,000 12,000 A4,000
OFEN=X 2285 &4 8,000,000& 8,000
SEX0IY B2 3,211,250 1,400,000 1,811,250
=2 2,100,000
< 310,000
s 801,250
402 RI2EX20l A 3,211,250 1,400,000 1,811,250
= 2,100,000
< 310,000
s 801,250
02 U2 THEALEZ(0IETHR) 3,211,250 1,400,000 1,811,250
OXNEEXNEA EX3 2,911,250
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2N

Jl e X2 ot

PSR es A IPN N |
el EUKX 9 )
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
"D SUSA B22 (20 29% BotE
0%) 162,500,000 162,500
-AMNE2e EHEN BEX2(1AH)
1,565,000,000& 1,565,000
2 1,200,000
= 120,000
= 245,000
-2 e EHIEX EX2 (1)
783,750,000 783,750
2 600,000
& 70,000
= 113,750
MM IZE SHIEXN BEX2(20%)
400,000,000 400,000
= 300,000
< 30,000
= 70,000
OEH Al 01&D|Y BXZ2(HEst=2 HHIEX
2 XZ2,30%) 300,000, 000& 300,000
& 90,000
= 210,000
MNEEMNFX AIRA 89 73,496 37,920 35,576
MNEEEXNSK AIRA 29 73,496 37,920 35,576
HESHRI ARL 29 73,496 37,920 35,576
201 et d| 25,296 30,920 Nb5,624
01 AFR 2t 2| H| 14,160 17,000 N2,840
O0I2d4D| dxz 480,000 480
ONEMEL 29 A2F 2
1,000,000 * 80% 800
OKSANEA IS deE2
750,000& = 10H ~ 12€ 9,000
ONEsE=x2 Sl 300,000& = 128 * 80% 2,880
ONMSEXNEI AMEA BHFEE =2
1,000,000 1,000
02 32%H| 11,136 13,920 N2, 784
OZ2222 ¥ HMA 5,376
-z 2l gl 300,000& * 1IHA * 128 = 80% 2,880
“HMAZ2US (e, HA S)
200,000& * 1IHA * 128 = 80% 1,920
-AHOIETV AIEZ
30,000 = 1A + 128€l = 80% 288
-4 AMEE
30,000 = 1A + 128 = 80% 288
OXgs Xl 100,000 = 1CH » 12&€ = 80% 960
OxgEFasH 500,000 = 1CH = 12€& * 80% 4,800
202 044 4,200 6,000 A 1,800
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R A= PRIy

B NSENRX AIRL 29
S NESXRA ARL 29 EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 2L I 4,200 6,000 A 1,800
ONSEXNEI AIRA d2F8 o
6,000,000& * 70% 4,200
203 SR F & 4,000 0 4,000
03 AIZH =X 25 X H| 4,000 0 4,000
ONMSEXNEI AMEA EBSESES XY
4,000,000& 4,000
406 JIEFAF2 0] & 40,000 0 40,000
01 JIEFRF=201 A 40,000 0 40,000
ONMESEXNSI MEA HBHNESZ
40,000,000 40,000
AACHR] X 6,384 4,560 1,824
AR 29 K& 6,384 4,560 1,824
AP EEX] 22| 6,384 4,560 1,824
202 044l 6,384 4,560 1,824
01 2L Y| 6,384 4,560 1,824
Ot erx|2te] 28 oyl
9,120,000& * 70% 6,384
MAAHET =4 @ 29 9,278,840 14,665,680 N5,386,840
= 500,000
&< 4,195,000
X 500,000
o 4,083,840
M AIEEA 9,278,840 14,665,680 N5,386,840
= 500,000
& 4,195,000
X 500,000
o 4,083,840
MHAST =24 KR 56,540 22,680 33,860
201 gEt24Hy| 9,960 11,280 A 1,320
02 Z2=2=24%4| 9,960 11,280 AN 1,320
OJIBIAIE dIIR2 200,000& = 128 * 80% 1,920
OJIBIAIE Sale2 150,000& = 12&€ = 80% 1,440
Ogeg ATZEAON(D-DAS) Xl
6,600,000& 6,600
202 04| 7,980 11,400 N 3,420
01 2L HI 7,980 11,400 N 3,420
OMHEHXEL SL2F=E |
11,400,000 = 70% 7,980
401 AlEHI 2L 2 0HY| 38,600 0 38,600
01 Al&H| 32,000 0 32,000
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2N

Jl e X2 ot

Ha: poCN ZH Y 2
CHol: MICHT| A& EH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMA T DIBHAIAE A0 244
10,000,000& 10,000
OdEAMACR] MAZT2 NEZ2A E229(H
A) 249 22,000, 0008 22,000
03 AlE 201 | 6,600 0 6,600
OMHEX 2210 6,600,000& 6,600
HEATUI] HAHEZZ SEHAY 600,000 2,040,000 A 1,440,000
x 500,000
= 100,000
401 AlEHIZL 2 0HY| 600,000 2,040,000 A 1,440,000
X 500,000
= 100,000
01 Al& b 597,840 2,040,000 AN 1,442,160
OdSMHHUX HAHEZE SEHAY
597,840,000 597,840
x 500,000
= 97,840
03 A& £ 0HH| 2,160 0 2,160
ONEAACI] HAAHEZ SZIAS A2
gl 600,000,000 * 0.36% 2,160
A2 Y SSHIaA-e MHOX 2L HAAA 2,914,300 1,816,000 1,098,300
HA(MEAY)
o= 2,701,000
= 213,300
401 AlEHIZL 2 0HY| 2,914,300 1,816,000 1,098, 300
& 2,701,000
= 213,300
01 Al&H| 2,914,300 1,816,000 1,098, 300
Od2 ¥ SSHIOA- WSS 2HE4+T
A& A 2,914 ,300,000& 2,914,300
= 2,701,000
= 213,300
HEAMPUI SZ2H=H2IAIE EXAL 2,860,000 6,977,000 A4,117,000
402 SI2vXHE0| ™ 2,860,000 6,977,000 A4,117,000
03 DI 2t EF AL HI 2,860,000 6,977,000 A4,117,000
O8NS SSHXEAIE XA
2,860,000,000& 2,860,000
SAMAMACT] 2H2LEE HEAY (MEAIY) 300,000 0 300,000
=} 210,000
= 90,000
401 Al HI L 2 0HHI 300,000 0 300,000
& 210,000
= 90,000
01 Al& H| 300,000 0 300,000
OSMMAUT] BHESE HEAMY
300,000,000& 300,000
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R A= PRIy

Hu: MION XA W 29
Sl APRICHT] AIA XA CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 210,000
s 90,000
QIZMACT] SHEST HEAM(HEAY) 1,834,000 2,000,000 A 166,000
< 1,284,000
s 550,000
401 A& HIZ 201 I 1,834,000 2,000,000 A 166,000
< 1,284,000
s 550,000
01 A& 8l 1,006,000 2,000,000 A 994,000
O=4aHEX SHET AL AY
1,006,000, 000& 1,006,000
< 704,400
s 301,600
02 Zteldl 828,000 0 828,000
O=/HEHI SHEE AL MY Zeldl
828,000,000 828,000
< 579,600
s 248,400
QI =AMAER SSH==HMelAlE EXAS 714,000 0 714,000
= 500,000
s 214,000
402 2I2H X201 M 714,000 0 714,000
= 500,000
s 214,000
03 212t &AL S HI 714,000 0 714,000
Ol MAHT SSH=XMlAE EXNAE
714,000,000 714,000
= 500,000
i 214,000
HE2AZH (OIS XJA D) 27,043 32,197 A5,154
Jl2Z8 (01 g X&) 27,043 32,197 25,154
o= | 27,043 32,197 ~5,154
201 et 21,763 23,997 AN2,234
01 At 2teltl 20,553 22,270 21,717
O+t 5,319,000 5,319
O= &l 6,150,000& 6,150
O=SAD Xz 200,000& = 104 ~ 123 2,400
O&F=D Xtz 50,000& = 104 » 12& 600
O#EITH 2235 2| 6,084
-ZofZeH 3,960
ey
440,000 * 10 » 48 = 23] = 90% 3,168
-E¥™ 440,000& * 104 = 28] » 90% 792
-otZely 200,000& = 5CH = 23] = 90% 1,800
-FAX EU 120,000& = 1CH = 33 * 90% 324
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S JLXR
HI: dNM2HPH (O XK D)

e D28 (I X2 Dt (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 1,210 1,727 AB17
OHFHH RAE=H] 1,210
-1 s AR 121
1,300,000 = 19CH * 5% * 70% 865
-Zgld 4,000,000& » 6CH * 2% = 70% 336
—-FAX 600,000& = 1CH = 2% » 70% 9
202 044l 1,680 2,400 AT20
01 = LH o4 1l 1,680 2,400 AT20
OJIgX3n dR=& oyl
2,400,000& = 70% 1,680
203 R =& 3,600 3,600 0
04 FN2ELSZ=TH| 3,600 3,600 0
ORAN2EYE=4HI 300,000& = 12& 3,600
MEES(OISGX D) 1,906,860 0 1,906,860
SEXNEOIZ XA D) 1,256,860 0 1,256,860
HdEZO0|d BT ALY Bta g 1,256,860 0 1,256,860
802 BHEt = JIEF 1,256,860 0 1,256,860
01 T DE2XStHE= 1,256,860 0 1,256,860
Os2JY SSHINHE0E AXAMY EX=
1,240,860, 000& 1,240,860
Os2JY SSHENHE0E AXAMY EX=
2 A0l Kt 16,000, 000& 16,000
WEHAXS (OIS X 1) 650,000 0 650,000
SIISELESH dES 650,000 0 650,000
701 JIEtSI HSEES 650,000 0 650,000
03 BIILELINHMENES 650,000 0 650,000
O3ZMLSEIAN HES 650,000,000& 650,000

- 369 -




N & o & AF & H Al A
20218 & =04t BIILYEESIA IS XA
AN ISR 0
AT 24 2 29
chelr NYASET e (SISSEEIAH)(SLSHLESSAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JI S X2 0t 1,274,160 4,223,807 A2,949,647
MAET T4 2 2Y 1,151,500 3,881,446 A2,729,946
A 22 (SINSSLAH)NSSMLSLEIA) 1,151,500 3,881,446 2,729,946
A LatH X 2el 1,500 8,702 AT,202
203 YR =& 1,500 1,500 0
03 A FXH S =AY 1,500 1,500 0
OAIMH 2= 1,500,000 1,500
ol Bl gl 300,000 1,363,744 A 1,063,744
801 OllHIHI 300,000 1,363,744 A 1,063,744
01 £etoildl gl 300,000 1,363,744 A 1,063,744
Ooldl gl 300,000, 000& 300,000
ad SEXF ZAHEA 850,000 0 850,000
401 Al HI K 201 I 850,000 0 850,000
01 A& HI 850,000 0 850,000
O&4 SEXT TAMSAL HSHE A 4
NEHESA 700,000,000& 700,000
O&d HB3XT TAMNEAY ARISAAS
g4It 84 150,000, 000& 150,000
HE2AZH (OIGXJA D) 21,100 342,361 A 321,261
Jl2du(BZIHLsSE3AH) 21,100 25,492 A 4,392
Jl2zl 21,100 25,492 A 4,392
201 Let2d] 21,100 25,492 A 4,392
01 At 22l 12,100 15,300 A 3,200
OAtS 22l Hl 12,100,000& 12,100
02 =224l 9,000 10,192 A1,192
O33=24gHl 9,000,000& 9,000
HLEs(OILX A1) 101,560 0 101,560
BENE(SIENHLSEIA)N(SYMLSESA) 101,560 0 101,560
AH TR BHE S 101,560 0 101,560
802 BtEt= DI EF 101,560 0 101,560
03 JIEtErEt 3 S 101,560 0 101,560
OUSMACT MAALEX dUHESS BHEH(
10 ) 101,560, 000& 101,560
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